


6 4
50 50
9 4

1

1

510

50 50

300 500
500
3% — 5%
1,020

-1 -

1,000




A
2 1
5
1
3)
0
Kg
X kg
0
4
20kg
530

, / B
A+ B C
kg
= 0
D
Cx D
20kg 80  20kg 20kg
80

80 610

80



S51.4.1

S55.4.1

H4.4.1

H6.4.1

H9.4.1

200

500

510

1,000

1,020

41

919

1,181
27
2,063







5,000

4,500

4,000

3,500

3,000 —

2,500

2,000

1500

1,000

500

13 14 15 16 17 18 19 20 21 22 23 24
1133 1128 1,296 1,187 1,166 1,133] 1,141] 1146 998 989 872 898
2,777 2860 2835 2836| 2987 3303] 3469| 3498| 3265 3184 3146 3271
39101 3988 4,131 4,023| 4,153| 4436 4,610 4,644 4263 4173 4,018| 4,169
H20 H24 4,253

12,075 12,075 12,075| 12,075 | 12,075 | 11,970 | 11,235 | 11,550 | 11,865 | 11,865 | 11,865 | 11,865
H25 11,865
H21 H25 11,865




1 1,020 1,000 400
510
50 50 4
510 510 1,020
[
2,625
3,675
1 400
S56
100 5H4 1226 1,300
80 1,700
250 x 1.226x 1.05 80 401
400
( )
1,050
1
420




500

530

500

100

100kg

350




